
Решебник по физике для «чайников» 
 

Тема: Уравнение гармонического колебания 

№ 1 

№ Уравнение 

1 
𝑥 = 3 sin

3𝜋

4
𝑡 

Дано: 

𝑥 = sin (3𝜋𝑡 +
𝜋

8
) 

Найти: 

А - ? 

Т - ? 

υ - ? 

ω - ?  

φ0 - ? 

φ(t=3c) - ? 

 

СИ Решение: 

x  =  А sin  (ω t  +  φ0) 

𝑥 = 1 sin (3𝜋𝑡 +
𝜋

8
) 

Отсюда: 

А = 1 м;    ω = 3𝜋(рад/с);      φ0 = 0 (рад) 

𝜔 = 2𝜋𝜐     

𝜐 =
𝜔

2𝜋
=

3π

2𝜋
=

3

2
= 𝟏, 𝟓(Гц) 

Т =
1

𝜈
=

1

𝟏, 𝟓
= 0,67(с) 

𝜑 = 𝜔𝑡 = 3π ∙ 3 = 9π = 9 ∙ 3,14 = 28,26(рад) 

 Ответ:         А = 1 м;    ω = 3𝜋(рад/с);      φ0 = 
𝜋

8
 (рад); 

𝜐 = 1,5(Гц);   Т = 0,67(с);   𝜑 = 28,26(рад) 
 

 

 


